OTtuer: lNeparory no npeamery
benoe AnekcaHap EsreHbesuny, 2018/2019 yye6HbIn roa, Pusnyeckas Kynbrypa

YcnesaemocTb Coeasmit | % % gg,#
] e S [ Xop | Ya | Heya E’ OCB |34 | H3 g'lf;m Gann | ycnes. | (%)
1-7 veTBepTL | 27 25 |2 0 |0 010 0 (0 |0 4,93 100,0 [100,0 | 97,3
2-5 yeTBEPTSL | 27 26 |1 0 |0 010 0 [0 |0 4,96 100,0 |100,0 | 98,67
4-B 3-9 yeTBepTL | 27 0 0 0 (0 0|0 0 [0 |27 0,0 0,0 - -
4-9 yeTBepThb | 27 0 0 0 (0 0|0 0O (0 |27 0,0 0,0 - -
foa 27 0 0 0 |0 0|0 0 [0 |27 0,0 0,0 - -
1-9 yeTBepTh | 27 17 |9 1 |0 00 0 (0 |O 4,59 100,0 | 96,30 | 85,61
2-9 YeTBepThb | 26 21 |5 0 |0 0|0 0 |0 |0 4,81 100,0 | 100,0 | 93,0¢
6-B 3-5 yeTBEpPTL | 26 0 0 0 (0 0|0 0 |0 (26 0,0 0,0 - -
4-51 yeTBEPTDL | 26 0 0 0 (0 010 0 |0 |26 0,0 0,0 - -
lon 26 0 0 0 |0 0|0 0 |0 |26 0,0 0,0 - -
1-a vyeTBEpTh | 27 20 |6 1 10 0|0 0 [0 |0 4,70 100,0 | 96,30 | 89,6:
2-a yeTBepThb | 27 18 |8 110 0|0 0 (0 |0 4,63 100,0 | 96,30 | 86,9¢
6-r 3-9 YeTBEpTL | 27 0 0 0 |0 0 (0 0 |0 |27 0,0 0,0 - -
4-s1 YyeTBeEpTL | 27 0 0 0 |0 010 0 (0 |27 0,0 0,0 - -
lop 27 0 0 0 |0 010 0 |0 |27 0,0 0,0 - -
1-a yeTBepThL | 28 19 |9 0 |0 0|0 0 [0 |0 4,68 100,0 |100,0 | 88,4:
2-51 yeTBEpTH | 28 22 |6 0 |0 010 0 (0 |0 4,79 100,0 |100,0 | 92,2¢
9-a 3-5 yeTBepTL | 28 0 0 0 |0 0|0 0 |0 |28 0,0 0,0 - -
4-9 yeTBEpTL | 28 0 0 0 |0 0 (0 0 |0 |28 0,0 0,0 - -
loa 28 0 0 0 |0 010 0 |0 |28 0,0 0,0 - -
1-a yeTBepTL | 28 23 |4 1 ]0 0|0 0 [0 |0 4,79 100,0 | 96,43 | 92,51
2-9 YeTBepThb | 28 24 |3 110 0|0 0 |0 (O 4,82 100,0 | 96,43 | 93,8¢
3-6 3-51 YeTeepTL | 28 0 0 0 |0 0|0 0 |0 |28 0,0 0,0 - -
4-5 yeTBepTh | 28 0 0 0 |0 010 0O |0 |28 0,0 0,0 - -
[os} 28 0 0 0 |0 0|0 0 |0 |28 0,0 0,0 - -
1-a yeTBEpTHL | 27 15 |12 |0 |0 010 0 |0 |0 4,56 100,0 | 100,0 | 84,0(
2-51 YyeTBepTL | 27 20 |7 0 |0 010 0 |0 0 474 100,0 | 100,0 | 90,6°
)-B 3-8 yeTBepTL | 27 0 0 0 |0 010 0 (0 |27 0,0 0,0 - -
4-9 yeTBepTsb | 27 0 0 0 |0 0|0 0 |0 |27 0,0 0,0 - -
[e)al 27 0 0 0 |0 010 0 (0 |27 0,0 0,0 - -
1-5 yeTBeEpTL | 27 13 |12 |2 |0 0|0 0 [0 |0 4.41 100,0 (92,59 |79,2¢
2-9 yeTBepTs | 27 15 112 |0 |0 010 0 |0 |0 4,56 100,0 | 100,0 | 84,0(
b-r 3-71 YyeTBEPTL | 27 0 0 0 |0 0|0 0 |0 |27 0,0 0,0 - -
4-51 yeTBeEpTL | 27 0 0 0 (0 0|0 0 (0 |27 0,0 0,0 - -
roa 27 0 0 0 |0 010 0 [0 |27 0,0 0,0 - -




2-i cemecTp | 11 0 0 0 |0 0 (0 0 |0 | M 0,0

0,0

oo 11 0 0 0 |0 010 0 (0 |1 0,0

0,0

LWKonbHbLIA nopTan
Mockosckod ofinacTit
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